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Plot [['EcFgro’', 'EcFzExp', 'EcPltng’, 'ECdef’, 'water_ec’]]
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Plot [’ ECopt’]
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Plot Sensor and FgRec Data
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Plot [['I", "lopt’], ['T, "Topt’], ['RH, 'RHopt'], [ ETcl’, 'optETcl’], 'LAI', ’optEtRate’]
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Plot [['setVlI ETcl’, 'setVI fgRec’,

"setVI_VN',

"s1SetVI' 1]
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Plot [['ECC:b—0’, 'FVIEC:r—o', 'ECl:g—0o']]
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Plot [['FVOEC:r-o’, 'ECO:g—o’]]
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Plot [['PHC:b—0’, 'FVIPH:r—o', 'PHl:g—0o']]

7.0

6.8 1

6.6 -

6.4 -

6.2

6.0 -

Warnimg: fcol ['PHC’', 'FVIPH ] is missing

10 20

30

40

50

60




Plot [['FVOPH:r—o',

"PHO:g—o’ ]]
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Trend plot forP3-6_0
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P3-6

Bfig) | GEBATK (RY) | EHRE (EA/K) | ERERE (B/R) | XS R

07:25 273 150.0 25. 83 BH| FhHAe07:25 KR4ENF2F (KRAEREE)
07:55 273 150.0 25. 83 FA| FHHR@O7:55 KREiEHF (RALESR)
08:25 273 150.0 25. 83 FH| FnHA@08:25 KRFFEF (RAEREE)
08:55 273 150.0 25. 83 FH| FnHA@08:55 KRFIEF (RAEFRER)
09:25 273 150. 0 25. 83 FR[ FHR@09:25 RENFEFF (KRR
10:05 273 150.0 25. 83 FA| FHA@10:05 KRENFEF (ARFAERHS)
10:40 273 150.0 25. 83 FH| FnHA@10:40 KRFIEF CRAERS)
11:15 273 150.0 25. 83 FE| FiHA@11:15 KREEF (RAFEHE)
11:45 273 150.0 25. 83 PA| FhHR@11:45 RHMIEHF (RALESR)
12:15 273 150.0 25. 83 FA| FnHf@12:15 KRFEF CRAERS)
12:45 273 150.0 25. 83 FE| FiHA@12:45 KREEF (KAFEHE)
13:15 273 150.0 25. 83 | FiHRe13:15 RHMIEHF (RALESR)
13:45 273 150. 0 25. 83 f|  FHEA@13:45 KREFZF (RFAEES)
14:20 273 150.0 25. 83 M| FiHRe14:20 KREEF (KAERHE)
14:55 273 150.0 25. 83 f| FiHR@14:55 RHMIEHF (RALESR)
15:35 273 150. 0 25. 83 f|  FHEAe15:35 KREFZF (KRFAEEES)
16:20 273 150. 0 25. 83 f|  FHEA@16:20 REFZF (RAERES)
17:15 273 150. 0 25. 83 FR| FhHR@17:15 KRENFRF (REAEFREEE)
2it] 4914.0 (18X%) 2700. 0 323 KEC: 2080.0, PH: 5.6

[E;&REC 6020.0 K5, EiMF{KECAE&M%ER
#[EKECE (2087.0 vs 6020.0) 15




FRV (ml plant-1)

ET (ml/hr/plant)

P3-6_0, Day=63 (2025-05-31)
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P3-6

BfiE) | GEBAK (R | EHE (EAR/HK) | ERERE (B/R) | KR R

06:05 278 150.0 25. 83 ] BR1%@06:05 Bz (KRFHERES)
06:50 278 150. 0 25. 83 A 1B21%@06:50 B3h (FKPBIEREE)
07:35 278 150.0 25. 83 e BRi&@07:35 Bzl (GRFAEREEE)
08:20 278 150.0 25. 83 1] 1B2i%@08:20 B3h (FKAEREEE)
09:20 278 150.0 25. 83 FA ]R1%@09:20 Bzl (RFERSE)
10:20 278 150. 0 25. 83 1] BRi%@10:20 Bzh (REERESE)
11:05 278 150.0 25. 83 A BRi%@11:05 B3h (KRAHERESE)
11:45 278 150.0 25. 83 ;] Bike11:45 B3 (KRAHERSE)
12:20 278 150.0 25. 83 ] BRi%@12:20 Bzh (RABHERE)
12:55 278 150.0 25. 83 A Bi&@12:55 B3 (KRAHERKSE)
13:30 278 150. 0 25. 83 ] B2i%@13:30 Bzh (kBEREE)
14:20 278 150.0 25. 83 e Ri%e14:20 Bz (REERSE)
15:20 278 150.0 25. 83 FR|  4F1T7015:20 Bz CGREERSE)
16:30 278 150. 0 25. 83 ] Bi%@16:30 B3h (kBEREE)
2it]3892.0 (14)%) 2100.0 3EHKEC: 2080.0, PH: 5.6

large discrepency for begining water status (396:156.0), set to 396 ml.
[/KEC 6470.0 K&, EILMIRECAZMITER
BEEIRECE (2220. 0 vs 6470.0) i 5




P3-6_0, Day=62 (2025-05-30)
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26.

26.

26.

26.

25.

26.

26.

26.

26.

48.

48.

47.

47.

m=500, FV0=0

—O—

i

M_E

565 5%0
m=700,n FV0=0

—o— ME

i

765 7%0
m=850,n FV0=0

—o— ME

i

8é5 8é0
m=500,n FV0=0

—— MW

500 505 510

26.

26.

26.

26.

26.

26.

26.

26.

26.

26.

26.

25.

26.

26.

26.

26.

26.

49.

49.

49.

48.

48.

48.

m=535, FV0=0

—o— M_E

5&0 5&5
m=735,n FV0=0

—o— M_E

7&0 7&5
m=920,n FV0=0

—o— M_E

955 950
m=535,n FV0=0

920

1T —e— mw

535 540 545




m=605, FV0=0

49.75 A

49. 50 ~

49. 25 ~

49. 00 ~

48. 75 A

48. 50 ~

—o—

M_W

T
605

6%0 6%5
m=770,n FV0=0

50. 2

50. 0

49. 8 -

49.6

49. 4 -

49. 2 -

—o—

M_W

T
770

T
775 780

m=635, FV0=0

49. 8

49.6

49. 4

49.2 A

49.0 -

48. 8

48.6

——

M_w

T
655

660 6é5
m=810,m FV0=0

50. 25 A

50. 00 A

49. 75 A

49. 50 ~

49. 25 ~

——

M_W

T
810

T
815 820

m=700, FV0=0

49.75 A

49. 50 ~

49. 25 ~

49. 00 ~

48.75 A

48. 50 ~

—o—

M_W

700

765 7%0
m=850,n FV0=0

50. 4

50. 2 1

50. 0

49.8 -

49.6

-— MW

T
850

T
855 860

50.

49.

49.

49.

49.

49.

48.

50.

50.

50.

50.

49.

49.

49.

m=735, FV0=0

—0—

M_w

T
735

7&0 7&5
m=920,n FV0=0

—0—

M_W

T
920

T
925 930




hour

_ e e e e e S
o OO A WWDN—= = 0 O ©

0 N N oo O OO

:00
140
:15
:55
:30
105
:35
105
:35

145
:35

100

80

- 60

- 40

§_



P3-6

BrE) | GEBAKE) | ERE(EH/AR) | EREE (G/R) [ XS R

06:25 273 150. 0 25. 83 El 1BRi&e06:25 Bz (RFA{EREIEE
07:00 273 150.0 25. 83 F[  BRi%e07:00 Ba1 (RAERSE)
07:35 273 150.0 25. 83 = {RRi8007:35 B (REAKEE)
08:30 273 150. 0 25. 83 E  BRi%e08:30 Ba1 (RAERE)
09:20 273 150.0 25.83 (Z=| {Ri%@09:20 Bz (FAERHSE)
10:00 273 150.0 25.83 (£ =| 1Ri%@10:00 Bz (RAEAERSE)
10:40 273 150. 0 25.83 |Z=| 1Ri&e10:40 Bz (GRAEREE)
11:15 273 150. 0 25.83 (£ =| 1Rige11:15 Bz (GREAERSE)
11:55 273 150.0 25.83 (£ =| 1Rige11:55 Bz (REAERSE)
12:30 273 150.0 25.83 (Z=| {Ri%e12:30 B3 (REAEHSE)
13:05 273 150.0 25. 83 =l {Rig@13:05 B3 (REAERSE)
13:35 273 150.0 25. 83 = {RRiB013:35 B (RFAKESE)
14:05 273 150. 0 25. 83 E BRige14:05 Bz (GRAERESE)
14:35 273 150.0 25. 83 5| {Ri%e14:35 B3 (RAERSE)
15:10 273 150.0 25. 83 =l RRiBe15:10 Bz (RFAKESE)
15:45 273 150.0 25. 83 = RRiBe15:45 Bz (REAKEE)
16:35 273 150.0 25.83 |Z=| {Ri&e16:35 Bz (REEZEHE)
21t 4641.0 (17& 2550. 0 323 KEC: 2080.0, PH: 5.6

large discrepency for begining water status (364:174.0), set to 364 ml.
[2]/REC 6620.0 K&, EiIUAKECH A IMIAER
BE[EIRECE (2323. 0 vs 6620.0) i 5




FRV (ml plant-1)

ET (ml/hr/plant) ET (ml/hr/plant)

ET (ml/hr/plant)

L e e o T e TR e e p L 3000
VI, V&P$RV, ET - VI, V0, FVI, FVO, FRV, ad jFRV, ET 2640
2250 2200 20961
100 4 006 - 2000
50 - 1000
20 Warning: lcol [FVI',| "FVO’'] missing 106
0 + -0
200 | ¥ 30
150 - - 28
-
100 A L 26 =
50 - 24
1.0 22
1
0.8
0.6 -
0.4 1
0.2 A
Warning: lcol ["WC1',  "WC2'] missing
0.0
0.8 TargetEC=2600. 0,  TargetSetEC=2080. 0 t
0.6 -
0.4 1
0.2 A
Warning: lcol ['ECB’,| 'ECC’'] missing
0.0
0.8 TargetPH=6. 5, TargetSetPH=5.6 N
0.6 -
0.4 4
0.2 ~
Warning: lcol ['PHB’,| 'PHC’'] missing
0.0 1
Bylnit @D63 05:06: ET+2333 Fg=3000.0 Ro=597.0 4000
400 A - 3000
- 2000
200 ~
- 1000
01 0 1 2 3 4 5 6 7 8 9 10 11 12 13 14 15 16 17 18 19 20 21 22 23 2000
g | BB | BB i | B | g | BB g | BB | B i 5 | BB | BB | B 5 5 5 i 5 5 5 B 5
1
400 1 ByEt @D61 19:09: ET=2450 Fg=2250.0 Ro=nan : - 3000
- 2000
200 ~
- 1000
01 0 1 2 3 4 5 6 7 8 9 10 11 12 13 14 15 16 17 18 19 20 21 22 23 2000
g | BB | BB i | B | g | BB i | B |2=|Za|Z25|255] B 5 5 | %= BA FH [H [H EIRERS
1
400 1 ByWoFv @D63 05:06: ETT2161 Fg=2550.0 Ro=482.0 - 3000
1
1 - 2000
200 A i
: - 1000
1.0 0
0.8 A
0.6 -
0.4 1
0.2 A
|
| _obs
PPFD_obs

P3-6_0, Day=61 (2025-05-29)

RH
RH_obs
RHo _obs

FRV (ml d-1)

cumET (ml/plant) cumET (ml/plant)

cumET (ml/plant)



26.

26.

26.

26.

26.

25.

25.

26.

26.

26.

26.

25.

26.

26.

26.

26.

25.

25.

25.

27 A

26 -

25 -

24 -

23 -

M_E

T T T
600 800 1000

m=560,m FV0=0

—0— ME

il

7
i

5é5 5;0
m=725,n FV0=0

—o— M_E

7
i
7

750 7é5
m=885,n FV0=0

-o— M_E

i
7
il
it

890 895

m=450, FV0=0

24.75 A

24.50 A

24. 25 A

24.00 A

23.75 A

23. 50 A

26.

26.

25.

25.

25.

26.

26.

26.

25.

25.

26.

26.

26.

26.

25.

M_E

4%5 4é0
m=610,n FV0=0

450

—o— ME

6%5 GéO
m=765,n FV0=0

—o— ME

7%0 7%5
m=925,n FV0=0

765

-o— ME

925 930 935

26.

25.

25.

25.

25.

25.

24.

26.

26.

26.

25.

25.

26.

26.

26.

25.

25.

26.

26.

26.

26.

m=490, FV0=0

M_E

495 500
m=650,n FV0=0

—o— ME

Gé5 GéO
m=805,n FV0=0

—o— ME

8%0 8%5
m=965,n FV0=0

-o— M_E

970 975

26.

26.

26.

26.

25.

25.

26.

26.

26.

25.

26.

26.

26.

26.

25.

26.

26.

26.

26.

26.

26.

m=525, FV0=0

—o— M_E

550 5é5
m=685,n FV0=0

—o— M_E

660 6é5
m=840,n FV0=0

—o— M_E

8&5 8%0
m=1010m FV0=0

840

—o— M_E

1010 1015 1020



T
600

860
m=560,n FV0=0

T
1000

49.

48.

48.

48.

—0—

M_W

T
560

5é5 5%0
m=725,n FV0=0

49. 8

49.

49,

49.

49.

48.

48.

—o— MW

725

750 7é5
m=885,n FV0=0

50. 00

49.75 A

49. 50 ~

49. 25 ~

49. 00 ~

48. 75 A

-— MW

885

890 895

m=450, FV0=0

46.0

45.5 -

45.0 -

44.5 -

44.0

49.

49.

48.

48.

48.

48.

49.

49.

49.

49.

48.

48.

50.

50.

49.

49.

49.

49.

M_w

455 4é0
m=610,n FV0=0

T
450

25 4

00 -

75 A

50

25 A

00 -

—o— MW

i
it

6{5 6é0
m=765,n FV0=0

75 -

50

25 A

00 -

75 -

50

765 770 775

m=925,m FV0=0

25 A

00 -

75 -

50 -

25 -

00 -

-o— MW

925 930 935

m=490, FV0=0

47.

47.

46.

46.

M_W

T T
490 495 500

m=650,m FV0=0

49.4

49.

49.

48.

48.

48.

48.

—— MW

665 6é0
m=805,n FV0=0

49.75 A

49. 50 ~

49. 25 ~

49. 00 ~

48. 75 A

48. 50 ~

—o— MW

i

8%0 8{5
m=965,n FV0=0

805

50. 6

50. 4

50. 2

50. 0 -

49. 8

49.6 -

-o— MW

w
i

970 975

48.

48.

48.

48.

47.

47.

49.

49.

49.

49.

48.

48.

50. 00 A

49. 75 A

49. 50 A

49. 25 ~

49. 00 ~

48.75 A

50. 6

50. 4 A

50. 2 A

50. 0 -

49. 8 -

m=525, FV0=0

M_w

550 555
m=685,n FV0=0

GéO 6é5
m=840,n FV0=0

840

8&5 860
m=1010m FV0=0

- MW

1010

1015 1020
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P3-6

BfiE) | GEBATK (D) | ERE (EA/K) | ERERE (B/R) | XS R

06:35 278 150. 0 25. 83 E 1BRi%e06:35 Bal (RAEREE)
07:10 278 150. 0 25. 83 E|  {Rige07:10 Bah (RE{EREE)
07:45 278 150.0 25. 83 = {RRiB007:45 B (RFAKEE)
08:30 278 150. 0 25. 83 E  1BRi%e08:30 Bzl (RAEREE)
09:15 278 150.0 25. 83 5| {Ri%e09:15 Bz (FRAERSE)
09:55 278 150.0 25. 83 = {RRiB009:55 B (RFAEEE)
10:35 278 150.0 25. 83 = {RRiB010:35 Bz (REAEEE)
11:10 278 150. 0 25. 83 =l Rig011:10 B3 (GRAEESE)
11:45 278 150.0 25. 83 = {Rige11:45 B3 (RAERSE)
12:20 278 150.0 25. 83 Sl {Rige12:20 B3 (RAERSE)
12:50 278 150. 0 25. 83 E| {Rig012:50 Bzh (RE{ERSE)
13:20 278 150.0 25. 83 F BRige13:20 Bz CGRAERE)
13:50 278 150.0 25. 83 S| {Rig@13:50 B3 (RAERSE)
14:20 278 150. 0 25. 83 E BRige14:20 Bz (GRAERESE)
14:50 278 150.0 25. 83 F BRige14:50 Bz CGRAERSE)
15:25 278 150.0 25. 83 = {Rige15:25 B3 (RAERSE)
16:00 278 150. 0 25. 83 El BRige16:00 Bzl (RAERERE)
16:40 278 150. 0 25. 83 =l RiB016:40 Bah (RAEESE)
24t]5004.0 (18)%) 2700. 0 323 KEC: 2080.0, PH: 5.6

large discrepency for begining water status (374:162.0), set to 374 ml.
[ /&EC 6022.0 K7, EiUAKECHAIMIAER
13 [E]%ECZ (2400. 0 vs 6022.0) 5




FRV (ml plant-1)

ET (ml/hr/plant)

ET (ml/hr/plant)

P3-6_0, Day=60 (2025-05-28)

L e e o T e TR e e p st L 3000
VI, VPSRV, ET - VI, VO, FVI, FVO, FRV, ad jFRV, ET 2685
2300 2250 29944

100 - 911 - 2000

50 - 1000

FRV (ml d-1)

20 Warning: lcol [FVI',| "FVO’'] missing 20

200 A

150 - - 28

[
100 - L 26 =

50 A - 24

1.0 22

Warning: lcol ["WC1',  "WC2'] missing

TargetEC=2600. 0,  TargetSetEC=2080. 0

Warning: lcol ['ECB’,| 'ECC’'] missing

TargetPH=6. 5, TargetSetPH=5.6

Warning: lcol ['PHB’,| 'PHC’'] missing
0.0 : - 4000
Bylnit @63 05:07: ET%21 12 Fg=2700.0 Ro=522.0 t

ET (ml/hr/plant)

400 | - 3000 &
a
<

- 2000 £

200 - =

L 1000 'E
o
0 0 1 2 3 4 5 6 7 8 9 10 11 12 13 14 15 16 17 18 19 20 21 22 23 4000
= E3 E3 ES = E3 E3 ES = E3 E3 ES = E3 E3 ES = E3 E3 ES = E3 E3 ES
R | B5 [ B | B | AR | A5 | A5 | B | BR [ HR B B B B B B B B B B B B B B )
400 - I L 3000 £
ByEt @60 19:09: ET=2300 Fg=2295.0 Ro=nan H =
<
- 2000 £
200 - =
L 1000 'E
o
01 0 1 2 3 4 5 6 7 8 9 10 11 12 13 14 15 16 17 18 19 20 21 22 23 4000
= E3 E3 ES = E3 E3 ES = E3 E3 ES = E3 E3 ES = E3 E3 ES = E3 E3 ES
R | B5 [ B | B | AR | A5 | A5 | B | BR [ HR B B B | MR B B B B B B B B B B )
1 - 3000 S

971 ByWoFy @63 05:07: ET=2148 Fg=2700.0 Ro=527.0 s

<
: - 2000 E
200 - : —
L
i L 1000 'E
1 o
p——@ \ 4 4
— S e | E——

1.0 0 1 2 3 4 5 6 7 8 9 10 11 12 13 14 15 16 17 18 19 20 21 22 23 0

osl f5 | 5 | BF | 5 | M5 [ BE | f5 [ ME | HE | R [HE | S | ”E [ HE | Hg [ MBS [ HE | fs [ ME | BE | R [ MR | S | A

0.6

0.4 -

0.2 -

0.0

1500 — | A

[ ] | _obs

1000 A —@— PPFD_obs

500 -

80

60

RH
407 @  RH_obs
[ ) RHo_obs

hour



26.

26.

25.

25.

26.

26.

26.

25.

25.

26.

26.

26.

26.

24
23
600 800 1000
m=580,m FV0=0
—e— ME
2 -
0 -
8 -
6 -
580 585 590
m=720,m FV0=0

—o— M_E

il
7
7

755 750
m=860,n FV0=0

-o— M_E

?
7
?

865 870

25.

24.

24.

23.

23.

26.

26.

26.

26.

25.

25.

25.

26.

26.

26.

25.

25.

26.

26.

26.

26.

m=465, FV0=0

M_E

4%0 4;5
m=610,n FV0=0

—o— ME

6%5 GéO
m=760,n FV0=0

—o— ME

765 7%0
m=895,n FV0=0

760

-o— ME

895 900 905

26.

26.

25.

25.

25.

25.

25.

26.

26.

26.

25.

25.

26.

26.

26.

26.

25.

25.

26.

26.

26.

26.

26.

m=500, FV0=0

M_E

565 5%0
m=650,n FV0=0

—o— ME

il

Gé5 GéO
m=795,n FV0=0

—o— ME

860 865
m=935,n FV0=0

-o— M_E

940 945

26.

26.

26.

25.

25.

25.

25.

26.

26.

26.

25.

26.

26.

26.

26.

25.

26.

26.

26.

26.

m=540, FV0=0
2 —o— ME
1 .
0 .
9 .
8 .
7 .
6 .
540 545 550
m=685,m FV0=0
—o— ME
4 .
2 .
0 .
8 .
Gé5 eéo 6é5
m=830,m FV0=0
61 —o— ME
4 .
2 .
0 .
8 .
850 8§5 SAO
m=975,m FV0=0
81 —o— ME
6 .
4 .
2 .

975 980 985




46 -

44 -

42

660 860
m=580,n FV0=0

1000

49.0

48. 8 -

48. 6

48. 4

48. 2

—— MW

5é5 560
m=720,n FV0=0

49.75 A

49. 50 ~

49. 25 ~

49. 00 ~

48. 75

48. 50 ~

—o— MW

it
i

7é5 750
m=860,n FV0=0

50. 2 -

50. 0

49. 8

49.6 -

49.4 -

49. 2 -

- MW

i
i
i

860 865 870

m=465, FV0=0

47 A

46

45 -

44 4

43 -

42 -

41 ~

M_w

4%0 4%5
m=610,n FV0=0

T
465

49. 2 -

49.0 -

48. 8 A

48.6

48. 4 -

49.

49.

49.

49.

48.

48.

48.

—o— MW

6{5 6é0
m=760,n FV0=0

75 A

50 -

25 A

00 -

75 -

50

25 A

—o— MW

765 750
m=895,n FV0=0

760

50. 4 4

50. 2 -

50.0 A

49. 8 A

49.6 -

49. 4 4

—— MW

895 900 905

m=500, FVO0=0
—— MW
48.0 -
47.5 -
47.0 -
T T T
500 505 510
m=650,m FV0=0
9.4 o wu
49.2
49.0 -
48.8 -
48.6 -
48.4 -
48.2 -
T T T
650 655 660
m=795,m FV0=0
—o— MW
49.75 -
49.50 -
49. 25 -
49. 00 -
48.75 -
795 800 805
m=935,m FV0=0
50. 6 - o MW
50. 4 -
50. 2 -
50. 0 -
49.8 -
49.6 -

940 945

m=540, FV0=0

48.

48.

48.

48.

48.

M_w

540

5&5 560
m=685,n FV0=0

49.6

49.

49.

49.

48.

48.

48.

—— MW

=

GéO 6é5
m=830,n FV0=0

50. 00

49.75 A

49. 50 A

49. 25 ~

49. 00 A

48. 75 A

830

Bé5 8&0
m=975,n FV0=0

50. 6

50. 4 A

50. 2 A

50. 0 -

49. 8 -

- MW

975

980 985
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P3-6

BrE) | GEBAKE) | ERE(EH/AR) | EREE (G/R) [ XS R

07:00 278 150.0 25.83 |Z=| {Ri&e07:00 Bz (KREERHE
07:35 278 150.0 25.83 (Z=| {Ri&@07:35 Bz (FAERSE)
08:35 278 150.0 25. 83 = {RRi8008:35 B (RFAREE)
09:30 278 150.0 25.83 |Z=| {Ri%@09:30 Bz (KREEZEHE)
10:10 278 150.0 25.83 (Z=| 1Ri%@10:10 Bzh (RAEHRSE)
10:50 278 150. 0 25.83 | =| {Ri%e10:50 B (REEZEHE)
11:25 278 150. 0 25.83 |Z=| Bige11:25 Bz (GRAERESE)
12:00 278 150.0 25.83 |Z=| {Ri&e12:00 Bz (REEHSE)
12:35 278 150.0 25.83 |Z=| {Ri&e12:35 Bz (REEZEBE)
13:05 278 150.0 25. 83 FA| 1B2i%@13:05 B3h (RAERSE)
13:35 278 150.0 25. 83 FA| {Ri%@13:35 Bz (CGkAEREE)
14:05 278 150.0 25. 83 FA| {Ri%@14:05 Bz (GRAEREE)
14:35 278 150.0 25. 83 FA| 1B2i%@14:35 Bzh (RkAERSE)
15:10 278 150.0 25.83 (£=| {Rige15:10 B3 (RAEDSE)
15:45 278 150.0 25.83 |Z=| {Ri&e15:45 B (REAEZERE)
16:25 278 150. 0 25.83 |Z=| {Ri&e16:25 Bz (REEZEBE)
17:25 278 150. 0 25.83 (&=| 1Rige17:25 Bz (RAEDSE)
Bt 4726.0 (17)%) 2550. 0 323 KEC: 2080.0, PH: 5.8

#H[EKRECE (2393.0 vs 4765.0) 35




FRV (ml plant-1)

ET (ml/hr/plant) ET (ml/hr/plant)

ET (ml/hr/plant)

P3-6_0, Day=59 (2025-05-27)

L e e o e e e e o e o B roet L 3000
VI, VO, FRV, ET — VI, V0, FVI, FVO, FRV, ad jFRV, ET 2685
2300 340
100 A 1790 - 2000
1500 473
50 - 1000
180 Warning: lcol [FVI',| "FVO’'] missing 20
0 -0
200_( # 30
150 - 28
(NN
100 - L o ='
50 A - 24
1.0 22
n
0.8
0.6 -
0.4 1
0.2 A
Warning: lcol ["WC1',  "WC2'] missing
0.0
0.8 TargetEC=2600. 0,  TargetSetEC=2080. 0 t
0.6 -
0.4 1
0.2 A
Warning: lcol ['ECB’,| 'ECC’'] missing
0.0
0.8 TargetPH=6. 5, TargetSetPH=5. 8 N
0.6 -
0.4 4
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